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A kite is flying at a heignt of 75 m above the ground. The string attached o the kie i
temporarily tied to a point on the ground. The inclination of the string with the ground is
60°. Find the length of the string, assuming that there is no siack in the string.
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Find the diameter of a

Sphere whose surf is
State the Menelaus ™ ace area is 154 m2.

eorem without proof,

Part - liI
Answe
rany § questions. (Q.No.21 is compulsory) - sts
y X3=25
" ¢ 3 2 3 4 8 3 4
fA=12 3 -8| B=| 1 ¢ » C={1 -2 3
1 oF i 27 Tiial 48 B A then verify that

A+m+®=m+m+c

If"’\=(a b}andh id I 2
¢ d 0 1/ Showthata -(a+d)A=(bc-ad)Iz

Show that in g triangle, the medians are concurrent,
ATV tower stands vertically on a bank of

the other bank directly opposite to it. Th

58”._ From another point 20 m away from this point on the line joining 1his point to the
foot of the tower, the angle of elevation of the top of the tower.is 30°. Find the hfimnt'of
the tower anq the width of the canal. (tan 48° = 1:6003) f

A girl wishes f,n prepare birthday caps in the form of right circular cones for her birthday
party, using @ sheet of paper whose area is 5720 cm?, how many caps can be made
with radius £ 5m and height 12 cm,

An industrial metallic bucket is in the shape of the frustum of a right circular cone
whose top and bottom diameters are 10 m and 4 m and whose heightis 4 m. Find the
curved and *, tal surface area of the bucket.

State and Pl ove Pythagoras theorem.

o Part- IV

Answer any one. 1x8=8

. a) Draw th»zl',graph of y = x2 — 4 and hence solve x2 - x — 12 = 0.

. (OR)
b) Draw a dircle of diameter 6 cm from.a point P, which is 8 cm away from its centre.
Draw the two tangents PA and PB to the circle and measure their lengths.
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